
NOTRE DAME HOLY CROSS HIGH SCHOOL 

Open Test – 2020-21 
Class:  VII  Subject:-English -II   Full Marks: 40 

 

A. Define each of the four kinds of sentences ,with two examples each. 
4 marks 

B. Write the uses of Be and Have in present tense form. 3marks 
C. Write the uses of simple present tense and present continuous tense. 

3 marks 
D. Make adjectives from the following words by adding one of these suffixes : ous, al, 

full, y : (1×10=10 marks) 
1. Use  2.taste 3.fog 4.mercy 5.gloom 6.duty 7.ease 8.fame 9.faith 10.habit. 

E. Rearrange the words in the following groups to make meaningful sentences. The 
kind of sentence to be made is indicated in the brackets.(2×5=10 marks) 

1. You told the story by what the is moral ( interrogative ) 
2. To the agent did plan tour the itinerary satisfaction your ( interrogative ) 
3. Victory one behave defeat and should gracefully in both (assertive) 
4. What performance gave that occasion an impressive she on (exclamatory) 
5. Magnanimous her how our all ignore of to weaknesses (exclamatory) 

F. Fill in the blanks with correct form of the verbs given in the brackets in the present 
continuous tense:( 1×5=5 marks) 

1. Who……….. in my bed?(lie) 
2. What ……….these days?(you,write) 
3. Who……… for?(they,wait) 
4. Why………today?(the farmers,not work) 
5. I ………… in this house any longer.(not live) 

G. Fill in the blanks with the correct degree of the adjectives given in the 
brackets:(1×5=5 marks) 

1. A. R. Rahman was a very ………… boy.(talented) 
2. A . R. Rahman was ……………….than any other boy of his age. 
3. No other metal is so……………as iron.(useful) 
4. His…………sister got married recently.(old) 
5. The pen is …………….than the sword.( mighty) 

 

 

 

 

 

 

 

NOTRE DAME HOLY CROSS HIGH SCHOOL 

Open Test – 2020-21 
Class:  VII  Subject:-English -I   Full Marks: 40 

 

I. Write the meaning of the following words:    1X7=7  

 Engrossing, Reluctant, Delightful, Rejuvenated, Tinge, Deceit, Blissful. 

II. Complete the following sentences:     1X4=4 

1. Hopscotch, Stapu or Paandi ....................................... 

2. It is ........................................... 

3. Hopscotch ................................ 

4. The game ................................. 

III. Fill in the blanks of the following sentences:   1X5=5 

1. The writer was looking for his friends because he ......................... 

2. The writer specially remembered Gaya because ....................... 

3. This piece of writing is a/an .......................  

4. The family decided to go on a holiday to ......................... 

5. “That was long ago, Sarkar. Please do not remind me of it.” .................... 

IV. Answer the following questions in short:    2X6=12 

1. Name the games that were played by the children in the street of India ? 

2. Why did author tried to run home ? 

3. Twenty years latter who has recognised his old playmate ? 

4. Who is the poet of the poem “Echoing green?” 

5. When do author forget all his worries and feel at peace ? 

6. When do some people love to fly kite in India ? 

V. Answer the following questions in details:   3X4=12 

1.  “Gaya’s performance that day astounded me.” Why was the author astounded ? 

2.  Why did the writer leave his childhood home and go way ? 

3.   Why did Gaya caught hold author and Sid friendly “Let me complete my turn 

before you go.” 

4.   Describe how the game Hopscotch is played ? 

 

 

 
 



NOTRE DAME HOLY CROSS HIGH SCHOOL 
Open Test – 2020-21 

Class:  VII Subject: Mathematics   Full Marks: 40 

A. Answer the following questions .  1×5=5  

1.Find the additive inverse of -83 
2.Evaluate 15+(-8) 

3.Find sum of 153 and -302 

4.Write examples of proper and improper fractions. 
5. Convert it into decimals 25/8.  

B.Solve  the  following.    2×6=12 

1.Fill in the blanks with correct symbol  
a. 78.23  69.85. 

b. 14.05_________14.005 

2.Simplify 

(-13-(-27)) + (-25-(40)) 

3. Substract 

a. 28 from -42 

b.-36 from 42 
4. Multiply-53 ×18 

5.Simply(-8)×9+(-8)×7 

6.Divide 0÷ (-4) =? , 

C . Solve the following :   3×5 = 15 

1 .what  will be  sign of  the  product  o  product. If  we  multiply 90 negative integers  and  9  

positive  integers. 

2. Compare the fractions 5/8 and 7/12. 
 3.Simplify. 2/3+5/9 -1/9  

4.Find 1/3 of 24 

5. Simplify 2/3 × 5/44 × 33/35.  

D.Solve    the  following :   4×2=8 

1. A bus can cover 62.5 km in 1 hour .How        much  distance can it cover in 18 hours? 

2. By what numbers should 94/5 be multiplied to get 42? 

 

 

 

 

 

 

 

 

 

 

 

NOTRE DAME HOLY CROSS HIGH SCHOOL 
Open Test – 2020-21 

Class:  VII Subject: S. Studies   Full Marks: 40 

I. Answer the following questions 1X10=10 

a) Which environment includes all the non living things 

b) The narrow zone of contact between the atmosphere the lithosphere 

and the hydrosphere their life form exist is called. 

c) One function of atmosphere 

d) What is the term used by the greeks for Indian subcontinent 

e)Write about the composition of coins 

f)Religious sources falls under which type of sources 

g)Where was the first democratic government created? 

h) What are the two goals of democracy 

i)Was the champion of the democratic movement in Myanmar 

j) What and where was Martin Luther king awarded? 

II. Answer the following questions 2X10=20 

a) Explain the term political equality 

b) Justify the statement “declaration of rights of man and of the citizens” 

c) System of feudalism was developed write two lines on this system 

d) What was the reason that several communities of the people were 

driven out of their homelands 

e) What was described in prithviraj raso? 

f) What was the third important event that took place in mediaeval 

Europe and what was it based on 

g) What are the divisions of lithosphere? 

h) Analyses the statement interrelationship is seen in the biosphere? 

i) How conservation is a doctor 

j) What do you learn about ecosystem?  

III. Answer the following question 5X2=10 

a) After independence people who framed our constitution made special 

provisions for whom 

What were these provisions? 

b) Explain any three archaeological sources of the medieval period? 

c) What the different? Affects of atmosphere on our surrounding? 
 













NOTRE DAME HOLY CROSS SCHOOL 

OPEN TEXTBOOK EXAMINATION – 2020-21 

CLASS – VII 

SUBJECT – BENGALI 

 TIME -                                                                                                        FULL MARKS- 40 

 

১) প্রদত্ত গদ্যাংশটি মন যন যগ সহকযনে পন়ে ন ম্ননিনিত প্রশ্নগুনিে উত্তে দযওঃ 

পশ্চিমবঙ্গে মমশ্চিনীপুর মেলার পশ্চিমাাংঙ্গে শ্চবঙ্গেষ কঙ্গর অরণ্য অঞ্চঙ্গল মলাধাঙ্গির বাস। ‘মলাধা' েব্দটি সম্ভবত 
সাংসৃ্কত ‘লবু্ধক' েব্দ মেঙ্গক এঙ্গসঙ্গে। ‘লুব্ধক' মাঙ্গন বযাধ। মলাধাঙ্গিরও পাশ্চি ধরার ফাাঁি মপঙ্গত পাশ্চি শ্চেকার করঙ্গত 
মিিা যায়। মঙ্গন হয় এেনযই তারা ‘মলাধা' নাঙ্গম পশ্চরশ্চিত হঙ্গয় মেঙ্গে। মলাধাঙ্গির আশ্চিশ্চনবাস সম্পঙ্গকে  মিাাঁে শ্চনঙ্গল 

মিিা যায় ময একসময় তারা মধয প্রঙ্গিঙ্গের বাশ্চসন্দা শ্চেল। মধযপ্রঙ্গিঙ্গে একঙ্গেণ্ীর কৃশ্চষেীবী আশ্চিবাসীর মিিা 

পাওয়া যায়, যাঙ্গির বলা হয় মলাধ বা মনাধ বা মলাশ্চধ। েীশ্চবকার প্রঙ্গয়ােঙ্গন একসময় তারা শ্চবহার উশ্চ়িষযা এবাং 
পশ্চিমবঙ্গের অরণ্য অঞ্চঙ্গল েশ্চ়িঙ্গয় প়িঙ্গত বাধয হয়। 

১৮৫১ সাঙ্গলর আিমশুমাশ্চর অনুযায়ী পশ্চিমবঙ্গে মলাধাঙ্গির সাংিযা শ্চেল  ৮৩৪৮। যতিূর োনা যায় বতে মাঙ্গন 
পশ্চিমবঙ্গে প্রায় কুশ্চ়ি হাোর মলাধা বসবাস কঙ্গর। মলাধারা মকান োশ্চতভুক্ত - এ শ্চনঙ্গয় নৃতত্ত্বশ্চবিঙ্গির মঙ্গধয 
অঙ্গনক শ্চবতকে  আঙ্গে। তঙ্গব আকৃশ্চতেত ববশ্চেঙ্গযয তারা প্রাক-দ্রাশ্চব়ি মোশ্চযরই অন্তভুে ক্ত। তাঙ্গির শ্চনেস্ব মকাঙ্গনা 
ভাষা মনই, মিহাতী বাাংলায় তারা কো বঙ্গল োঙ্গক। কোবাতে া বলার সময় উচ্চারণ্ধ্বশ্চনর মঙ্গধয উশ্চ়িষযা ভাষার 

প্রভাব মবে মিিা যায়।  

প্রশ্নযবিী।                                                                        ১x৫=৫ 

১) ‘মলাধা' েঙ্গব্দর অেে শ্চক? 

২) ‘মলাধা' নামকরঙ্গণ্র কারণ্ শ্চক? 

৩) ভারঙ্গতর মকান অঞ্চঙ্গল মলাধাঙ্গির মিিা যায়? 

৪) ১৮৫১ সাঙ্গলর আিমশুমাশ্চর অনুযায়ী পশ্চিমবঙ্গে মলাধাঙ্গির সাংিযা কত শ্চেল? 

৫) মলাধরা মকান ভাষায় কো বঙ্গল? 

২) শব্দযর্থ নিি (য  যকয  চযেটি)                                                     ১x৪=৪ 

রােযভ্রয, পরান্মুি, শ্চনকৃয, শ্চনবোহাঙ্গেে, সাংেয়। 



৩) নবপেীত শব্দ যিি (য  যকয  চযেটি)                                                ১x৪=৪ 

শ্চনষু্ঠর, অধীন, িুিে ান্ত, অকুঙ্গতাভয়, শ্চনিঃেঙ্গব্দ। 

৪) বযক্ গঠ  কনেয (য  যকয  নত টি)                                                  ১x৩=৩ 

ভূপশ্চত, শ্চনরন্তর, অেীকার, অধীন, আঙ্গরাহন। 

৫) চনিত ভযষযয় রূপযন্তনেত কনেযঃ                                                    ৩x১=৩ 

এক্ষঙ্গণ্ ঐ বযশ্চক্ত তাাঁহার অনুসন্ধানকারীশ্চিেঙ্গক তৎক্ষণ্াৎ তাাঁহার পাঁহুে  সাংবাি শ্চিঙ্গল, তাহারা আশ্চসয়া তাাঁহাঙ্গক 

রুদ্ধ কশ্চরল। নবাব অশ্চত িীন বাঙ্গকয, তাহাঙ্গির শ্চনকট শ্চবনয় কশ্চরঙ্গত লাশ্চেঙ্গলন। 

৫) ন ম্ননিনিত প্রশ্নগুনিে উত্তে দযওঃ।                                                  ১x৫=৫ 

ক) মুশ্চেেিাবাঙ্গি ইাংঙ্গরে মরশ্চসঙ্গেন্ট মক শ্চেঙ্গলন? 

ি) রাো প্রকৃতপঙ্গক্ষ কার েশ্চক্তঙ্গত েশ্চক্তমান হন? 

ে) রােধমে কশ্চবতায় রামিন্দ্রঙ্গক অপর শ্চক নাঙ্গম অশ্চভশ্চহত করা হঙ্গয়ঙ্গে? 

ঘ) একলঙ্গবযর শ্চপতার নাম শ্চক শ্চেল? 

ঙ) কারা সম্মাঙ্গনর পাত্র হওয়া উশ্চিত? 

৬) ন ম্ননিনিত প্রশ্নগুনিে উত্তে দযও (য  যকযন য নত টি)                                     ২x৩=৬ 

ক) শ্চসরােঙ্গদৌলা মক? মক মক তাাঁঙ্গক রােযিুযত করার ষ়িযন্ত্র কঙ্গরন? 

ি) িেরে ররামিন্দ্রঙ্গক রাো হঙ্গয় শ্চক শ্চক করার উপঙ্গিে শ্চিঙ্গয়শ্চেঙ্গলন? 

ে) “ধাশ্চমেক নীি োতীয় হইঙ্গলও ভশ্চক্তর পাত্র” – মকন? 

ঘ) পােে মক? শ্চতশ্চন কার কাঙ্গে শ্চক বলঙ্গলন? 

৭) ন ম্ননিনিত প্রশ্নগুনিে উত্তে দযও (য  যকযন য দটুি)                                        ৫x২=১০ 

ক) “নক্ষত্র মবশ্চযত মযন পূণ্ে েেধর” - কার মকান কশ্চবতার অাংে? পাংশ্চক্তটির অেে বুশ্চিঙ্গয় িাও। 

ি) শ্চসরাে মক? তাঙ্গক রােযিুযত করার েনয শ্চকভাঙ্গব ষ়িযন্ত্র হঙ্গয়শ্চেল? মসই ষ়িযঙ্গন্ত্র মযাে শ্চিঙ্গয় ইাংঙ্গরেরা শ্চকভাঙ্গব 
লাভবান হয়? 

ে) েদ্ধা ও ভশ্চক্ত সম্বঙ্গন্ধ আঙ্গলািনা করঙ্গত শ্চেঙ্গয় মলিক আমাঙ্গির ময শ্চনয়মগুশ্চল অনুসরণ্ করঙ্গত বঙ্গলঙ্গেন মসগুশ্চল 

শ্চলশ্চপবদ্ধ কঙ্গরা। 

Prabal Sarkar 


